Practice problems for exam review: complete in notebooks.

1. In summer squash, white fruit color (W) is dominant over yellow fruit color (w) and disk-shaped fruit (D) is dominant over sphere-shaped fruit (d). If a squash plant true-breeding for white, disk-shaped fruit is crossed with a plant true-breeding for yellow, sphere-shaped fruit, what will be the phenotypic ratio of the F1 generation?

2. In the following autosomal dominant inheritance, complete the genotypes of each individual that can be said with certainty.  If not certain, use the “dash” method we used yesterday to indicate “partially known”.
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Draw a two chromosome sperm mother cell’s gametogenesis
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‘The pedigree seen below is for colorblindness. Shaded individuals are colorblind. First, determine the
probable genotype of persons 1 - 15; then, answer the questions below the table.
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How did you determine the genotype of the mother at 3?7

Number 8 was colorblind just like his father. Where did the son at 8 get his allele for colorblindness?

Neither numbers 1 nor 2 were colorblind. How did they have a colorblind son (6)?

What must be the genotypes of the parents of a colorblind daughter? Explain.

If number 13 marries a normal man, what s the probability that their sons will be colorblind?
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‘The pedigree table below shows the blood types of three generations of family members. Notice that
some of the blood type phenotypes have been given to you. What s the genotype of the individuals 1 - 67
Give the probable genotype of all other family members.
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